Attempt questions

! The inflamation of bronchi of bronchioles is

called:

(a) Bronchitis (b) emphysema

(c) Pneumonia (d) Chest box
2 Glottis is a narrow opening at the floor of:
(b) Nostril

(d) antibiotics

(a) Nasal Cavity
(c) Pharynx

3 Which gas is absorbed through stomata of plant

during night?
(a) Carbon dioxide
(c) Nitrogen

(b) Oxygen
(d) Hydrogen

4 All the alveoli of one side unit to form:
(b) kidney
(d) chest box

(a) lung

(c) thorax

Class:10th
Test:Biology

> Gaserous exchange occurs in human beings in:

(a) Pharynx (b) Trachea
(c) Bronchi (d) Alveoli
6 Main role to give out air from lungs is:
(b) Bronchi
(d) Diaphragm

(a) Bronchus

(¢) Bronchiole

! Percentage of CO, in exhaled.dir during

breathing is:

(a) 16% (b) 4%

() 79% (d) 0.04%
8 The number of lobes in right lung is:

(a1 (b) 2

(c) 4 (d 3
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